@

|E .EI

2L

[=]

PIONEEKA

Engineering & Manufacturing Group

W Air Motor Type B4

Visit Our
Website




y/ NEEKA
J ngineering & Manufacturing Group Bearing 6__2052\_

HEAD SCREW M8x20

Botor, End Plate
Rotor Shaft

. Cover Plate

Ejectlon Ring

omng |\ 7'\
EJ.?Q!'_‘?_@B_'D.Q.\_\ \ (_9 ‘ "\ HEAD SCREW M5x12
Seal Housing \ s

HEAD SCREW M5x12 \
" Blade

M .'“;Front Plate \Body

\ Bearing 3205B27ZR C3

" Seal

Maximum Speed(Rpm): 3000

Maximum Start Torque (N/M): 32

Air Flow Rate (L/S): 120

Maximum Power (Kw): 5.5

Operating Torque at 7 Bar Pressure and Maximum Speed (Nm): 17

-picql Construction




y’/ PIONEEKA /
Engineering & Manufacturing Group

I Main Dimentions

155

205

24
®12 S S T
P g T ~
165
e T )
> i — \\
/ Q) \
/ O \
/ |
i I
! ;I
\ .
A\ o /
Yy /
N\
,. Q_ o %)
ﬂ II || % - ,/'//
l\ WA\ S
/N

125

140




J,PIONEEKA

Engineering & Manufacturing Group

Exploded View With Spare Parts List

Item No. Part Number Definition Quantity Material
1 00BD-E-MMO]T Body 1 GG 25

2 00BD-E-MMO2 Front Plate 1 GG 25

3 00BD-E-MMO3 End Plate 1 GG 25

4 00BD-E-MMO4 Rotor 1 GG 25

5 00BD-E-MMO5 Rotor Shaft 1 1.0764

6 00BD-E-MMOB Ejection Ring i 1.07156

7 00BD-E-MMO7 Blade - Epoxy resin with glass fibers
8 00BD-E-MMO8 Cover Plate 1 St 37

9 00BD-E-MMO9 CAP SCREW M8x45 6 Standard
10 00BD-E-MMI0 HEAD SCREW M8x20 6 Standard
n 00BD-E-MMI Seal Housing 1 1.0718

12 00BD-E-MMI2 Dowel Pin 4 Standard
13 00BD-E-MM13 Bearing 62052 1 Standard
14 00BD-E-MM14 Bearing 3205B27ZR C3 1 Standard
15 00BD-E-MMI5 Seal 1 Standard
16 00BD-E-MM16 ORing 1 Standard
17 00BD-E-MM17 HEAD SCREW MG5x12 6 Standard




o

>

IONEEKA

Engineering & Manufacturing Group

——
——

Air quality ]

"

ke )

Accessories For The Air Motor Type B I

Air line Components \

Silencer

Airmotor




/)

| PIONEEKA
| Engineering & Manufacturing Group

Contact Us

www.pioneeka.com pioneeka_grp @ pioneeka_grp
info@pioneeka.com 021-68152000 021-68152999

Q NO. 413, After Joshan ST, 17 Sharivar Blvd, Fath Hwy, Tehran, Iran




